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sk kkokokoksk kR kokoksk sk kR kkokok ok sk kA kokok ok
2 EEZHDOMN TR ZRITY HProgramTY,
[A.txt] a() —> [B. txt]
sekkokoksksk kR kkokokoksk kR kokokoksk kA kokok ok sk kR kokok ok
This program computes
{ACIBLT Y= {CLIDLT}={E[I1FLI1}
skkkkkkkkRRkok Bl sokskskolokokskskskksokskokokokoksk kR Rokok ok
{A[1.B[ 1}
{C[1.D[ 1}
{E[1.F[ 1}

skekskokokakokokskokokokkokokskokokokkokokskokokok sk kkokoksk ok sk sk kkoksk ok sk sk kkoksk ok sk sk sk ks ok k&

0000111111. 110000
0000001111. 111100
0 1111111000. 000001

R—2(1)



